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Note : Part A and B of each question in each unit consist
of very short answer type questions which are to
be answered in one or two sentences. Part C (Short
answer type) of each question will be answered
200-250 words. Part D (Long answer type) of each
question should be answered within the word limit
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1. (A) ufted=eiet =@ == 82 2

What is variable expenses ?
P.T. O.
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(©)

(D)
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What is First In First Out method [FIFO] of

matrial issue ?
TIel T Ay 9t # <) oaiEu| 4

Distinguish between Direct material and Indirect

material.
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Explain the limitations of Cost Accounting.
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The followintg particulars have been extracted
in respect of material X prepare Store Ledger

Account under Weighted Average method :
Receipts
January 01 Purchased 500 units @ 4 per unit.

January 04 Purchased 100 units @ < 4.20 per

unit.

January 10 Purchased 50 units @ X 4.25 per

unit.

January 13 Purchased 800 units @ < 4.30 per

unit.
Issued
January 05 Issued 400 units.
January 11 Issued 50 units.

January 15 Issued 900 units.

[ 31 P.T.O.
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Variable Cost X 12 per unit

Fixed Cost X 25,000
Units produced and sold 10,000 units
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Discuss the assumptions or limitations of Break

Even Point.
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(iii) ¥ 25,000 &Y HHH & fau fawa &t qfer
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The following informations are available :
Fixed Expenses X 25,000

Variable Expenses X 20 per unit

Selling Price X 30 per unit

Calculate the following :

(1) Break Even Point,

(i1) Profit-Volume Ratio,

(ii1) Sales amount to earn a profit of I 25,000
(iv) Sales quantity to earn a profit of I 35,000

in units (Quantity).
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What do you understand by Marginal Costing ?

State its usefulness as a tool for Corporate

Management decisions.
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(B)
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(i) T ER i HHE,

(ii) ITEH T,

(iii) oTfder (Taer=ht) stewr wEn fawerym,
(iv) T. st . faveon)

Write short notes on : (any two)

(1) Limitations of Cost Accounting,
(i1) Cost of Production,
(i11) Economic Order Quantity Analysis,
(iv) ABC Anaylsis.

ECaEa ||

Unit-II
FHEEH T 9 AT R FHd © 2
What do you understand by Idle Time ?
AI@E 9 F T?

What is Indirect Wages ?
[ 4]
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What is Taylor Differential Piece Work Rate
Method ? Explain.
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Explain Overheads.

P Ua Q I Fa faum € fov wwaf-ea suftes
1 AN HA: T 3,000 T T 2,000 T, ToreRt
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12
faum Iaarea faam war faam
A B C P Q
P 30% | 40% | 20% | — | 10%
Q 30% | 30% | 20% | 20% | —
el 4,000 | 24,500 | Z3,500| 3,000 | 2,000
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The contract ledger of Narendra Jaiswal and Sons
showed the following expenditure in connection

with the contract for the construction of a

building :

%
Materials 90,000
Wages paid 50,000
Overhead 20,000
Plant 40,000
Accroued wages due 10,000

The contract price were X 3,00,000. The work
certified was ¥ 1,80,000 and 75% of work

certified was received in cash.

At the end of the year the work done but
uncertified was estimated at ¥ 10,000. At the
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4. (A)

(B)

©)
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end of the year the material lying (balance) on
the site was T 6,000.

The plant is to be depreciated by 10%.

Prepare Contract Account.

TRE-IV

Unit-1V
STORH M § 7 2
What is contribution ?
ATY-HT ST 1§ 2 2

What is Profit-Volume Ratio ?

o o o

frefaied & THfa=s forg €99 H T4 Shitel—
4

fawa 9o T 20 9fa ghE
qfad-eie ard T 12 9fd sohre

TR @ T 25,000

Scfed Wo foshia seh1sal 10,000 SoTE

Calculate the Break Even Point from the
following :

Selling Price X 20 per unit

[ 11 ] P.T.O.
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P and Q are two service department with
respective total of I 3,000 and X 2,000 as
overhead to be apportioned on interservice
department basis of percentages given in the
chart below :

Find out the total overhead of production
department A, B and C assuming the total of A,
B and C production department being X 4,000,
4,500 and X 3,500 respectively before

distribution.

Department Production Service
Department Department
A B C P Q
P 30% | 40% | 20% — 10%
Q 30% | 30% | 20% 20% —
Total 34,000 | 34,500 |%3,500 | %3,000| 32,000
3qdT
Or
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3. (A)

(B)

(©

(D)
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Discuss the causes of difference between

Costing profit and Finanical Profit.

FRE-111

Unit-I11

T @G 1 72 2

What is Prime Cost ?

ST @Il H & 9T R § 2 2
What is material in hand in Contract Accounts ?
UM &=d 1 g ? 4

What is abnormal effectiveness ?

3gar
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ST ST hl IO FHETST |
Explain the calculation of work uncertified.
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It guR § e §-—
(A) TR = T 24,000

(B) TREd=ial & 3 14,400
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|

Betul Ganj Limited has undertaken a contract
for the manufacture of 8,000 units and the
following information have been obtained :

Material cost I 24 per unit.
Wages X 20 per unit.

Selling Price X 70 per unit.

The overhead charges consist of :
(A) Fixed expenses X 24,000

(B) Variable expenses X 14,400

[ 8]
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(C) Semi-variable expenses [of which 60% is
fixed] ¥ 9,600

Calculate the profit per unit what would be the
profit per unit if the number of articles produced
are 10,000 units. The total fixed overhead

charges remain unchanged.
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frefafed =g feard §—

3
ESip| 90,000
TSI YA i 50,000
Eeiteop| 20,000
I 40,000
SuTfSid Aeigd <A 10,000

T 7 X 3,00,000 T, THIF0E &1 2 1,80,000
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